Seite 138

a)12-3+4=36+4=76
b)5-24-8=12-8=4

) 15+025-4=15+1=25
d)65-2-32=65-64=01

) a)33-(15+12)=33-27=06

b) 0,5-(0,9-06)=05-03=0,2
c)5-(64-58=5-06=3
d)(27+18):3=45:3=15

Seite 139, links
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Losungswort: DELFIN
a)5+3-11=5+33=83
b)16:-25+36=4+36=76

) 10-4-22=10-88=12
d)15-42:3=15-14=01
e)15-32-36:09=48-4=08

f) 72+75-06-98=72+45-98=19

a) 235- (176 -11,8) =235 - 58 =177
b) 13,7 - (36,4 - 29,7) + 9,2
=13,7-6,7+92=7+92=162

¢) (13,25 + 6,45) - (7,05 - 5,95)
=19,7-11=18,6

d) (34,07 - 26,84 - 519) - 1,04
=2,04-1,04=1

a) (26+42)-18=6,8-18=1224

b) 84-(9,7-76)=84-21=1764

€ 24-(72+37)=2,4-10,9 = 26,16

d) (63-57):024=06:024=25

e) 96-(3,7-25)-152
=96+12-152=1152-152=10

f) 84-48)-(63-36)=3,6-27=972

Seite 139, rechts
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a)36-05-48=36-24=12
b)34+48-25-6,7
=3,4+12-6,7=154-6,7=28,7

c) 1,75:0,05-225-44=35-99 =251
d)226-38:02+25-18
=226-19+45=36+45=81

Seite 140, rechts
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a) (9,8-(76-54)-32)-10
=(98-22-32)-10=(2156-32)-1,0
=18,36 - 1,0 = 17,36

b) 9,8-(76 - (54 -3,2) -1,0)
=98-(76-22-10)=98-44=4312
) (98-76)-(54-32)-10
=22-22-10=4,84-10=384

d) 9,8+76-(54-(32-10))
=98+76-(54-22)=98+76-32
=9,8 + 24,32 = 3412



